—ixERCHIE

FH SREEH ZREH EEEH REMFE
L F R 2 2 2 1.0
H 7 s % FY 6 5 4 1.3
H A 5 4 4 1.0
HAXFHR (FE&) 0 — — —
HeEuFR 5 4 4 1.0
FRER D EF R 9 9 8 1.1
RERBUFR 4 4 3 1.3
= 31 28 25 -
KEAZHBTR FIAARX (PR
FH SREEH ZREH BIEEH REMEE
e 0 — —
H 7 st FY 1 0 — —
H A F 3 2 1 2.0
HeEuFR 2 1 1 1.0
FRAR D EF R 1 1 0 —
RERUFHR 0 — — —
&t 7 4 2 —
—iERARRE [MEFEME] XIREEXEES
FH SREEH ZREHN BIEEH REMEE
LFF R - — — —
Bz st FY — — — —
H A F Y — — — —
HeEuFR 1 1 1 1.0
BRSO EEFRL — — — —
BEREIEFR — — _ _
&t 1 1 1 —




